1.4 The Approximation Method of Euler Kol = X+ I
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1. Use Euler’s method to approximate the solution to the given initial problem at the points x =
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The actual solution is y = e~% +  — 1. Find a value of k for Euler’s method such that y(1) is

approximated to within +0.01.
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Also find, to within +0.05, the value of zg such that y(zo) = 0.2. .
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Use Euler’s method Calculator online . T oud o
You can choose h=0.05 There 1s on X betweea 0 } 3
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Use Euler’s method Calculator online
You can choose h=0.05 
y(0.7)=0.1877, y(0.75)=0.2133
so we can choose any number between 0.7 and 0.75, for example x=0.74
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2. Solve the initial value problem
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